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 TASK 1 
0,3x10=3 

TASK 2 
0,3x10=3 

TASK 3 
0,8x5=4 

TASK 4 
0,3x10=3 

TASK 5 
2.5x1=2.5 

TASK 6 
0,3x15=4.5 

  A) B)     

1.  A: springtime. The meaning of the adjective 'vernal' is 'relating to or 

happening in the spring' 

A A EASY B 1 B 

2.  B: To describe how the vernal pool fits into the larger environmental picture. D D HURT B Explanation 

Sentences 2, 3, 4 and 5 

talk about the riddles 

or problems that 

philosophers have set 

out to solve and 

sentence 1 describes 

the shortcomings of the 

methods the 

philosophers have used 

to represent their data.  

Thus, sentence 1 is the 

odd one out. The 

proper sequence of the 

given sentences is 3-2-

5-4. 

D 

3.  A: yields. A A DRY A B 

4.  A: various.  Diverse means “different.” A A FACE A D 

5.  C: living being. The sentence states: Like all of nature, there are predators and 
victims, and a particular living being may be one or the other, depending on 
its age and characteristics. 

B A SHOT C A 

6.  D: Other amphibians and reptiles return to the recurrent pond year after year 
to reproduce, as their ancestors have done for years. 

  A A 

7.  B: dirty. This means the same as “not clear.”   B A 

8.  C: forms of algae.   A C 

9.  B: Some of the life forms live in water first and later on land. The sentence 

states that the forms of algae produce and transmit oxygen to the salamander 

embryos and other young that are not yet able to survive outside of water. By 

saying that the embryos and other young are not yet able means that at some 

time they will be able to survive outside of water. 

  C C 

10.  B: marking 
 

  B C 

11.      B 

12.      D 

13.      B 

14.      B 
15.      C 


